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Ve AL RN

EFRAS R RS
2022 & 6 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.312 0.006 &
LA i 1.512 0.000 - 0.437 0.066 =
/L4, (HCI) 4,545 0.002 - 0.179 0.128 =
mIbE (HF) 0.306 0.001 - 0.096 0.023 s
— &b (SO2) 15.147 0.075 - 5.389 2.506 =
—4&bi% (CO) 7.578 0.001 - 0.662 0.025 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.369 - 15.625 1.462 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.016 0.006 &
LA 0.756 0.014 - 0.175 0.066 =
Z/LE (HCI) 0.756 0.064 - 0.159 0.128 s
wAbE (HF) 0.072 0.018 - 0.037 0.023 s
— &b (SO2) 3.789 2.313 - 3.182 2.506 =
—&Ei% (CO) 3.789 0.012 - 0.046 0.025 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.664 - 5.475 1.499 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575x 10°° <6.614 x 1010 =




Ve AL RN

EFRAS R RS
2022 & 6 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.187 0.003 &
LA i 1.512 0.000 - 0.514 0.060 =
/L4, (HCI) 4,545 0.015 - 0.202 0.108 =
mIbE (HF) 0.306 0.000 - 0.135 0.028 s
— &b (SO2) 15.147 0.023 - 9.828 2.746 =
—4&bi% (CO) 7.578 0.000 - 1.081 0.036 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.278 - 11.259 2.595 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.025 0.004 &
LA 0.756 0.007 - 0.131 0.059 =
#F/bE (HCI) 0.756 0.062 - 0.134 0.107 s
wAbE (HF) 0.072 0.017 - 0.036 0.027 =
— &b (SO2) 3.789 2.506 - 3.083 2.749 =
—&Ei% (CO) 3.789 0.010 - 0.107 0.037 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.929 - 3.506 2.589 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575x 10°° <5.827 x 1010 =
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EFRAS R RS
2022 & 6 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.004 - 0.022 0.007 &
LA i 1.512 0.031 - 0.570 0.082 =
/L4, (HCI) 4,545 0.084 - 0.440 0.173 =
mIbE (HF) 0.306 0.012 - 0.149 0.037 =
— &b (SO2) 15.147 0.003 - 10.625 2.843 =
—4& kbR (CO) 7.578 0.000 - 0.369 0.045 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.870 - 12.435 2.088 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.006 - 0.009 0.007 &
LA 0.756 0.047 - 0.135 0.081 =
/L4, (HCD 0.756 0.136 - 0.234 0.173 =
wAbE (HF) 0.072 0.023 - 0.058 0.037 s
—&AbiR (SO2) 3.789 2.449 - 3.366 2.846 =
—&Ei% (CO) 3.789 0.002 - 0.145 0.045 g
HAY (NOx)
DL=%AEE (NO2) 15.147 1.457 - 4.271 2.096 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 10°° <5.619 x 1020 &
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